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Simplify each sum. Make sure your final answer is written in standard form.
1) (4+4k%) + (3 + k% + 4k*) 2) (2r* +7) + (@r* + 3 + 67%)
3) (x* - 2x3) + (x7‘ - 7% - 6x4) 4) (6x% + 8x3) + (6x2 —4x> - 1)
5) (4+3p*+2p%) +(5p2 +2p° - 8) 6) (2b* + 6+ 4b) + (7 + 2b* - 7b)
7) (7 +5v° - v) + (v -7+ 5v3) 8) (461 - 7a* + 3614) i (861 +a' + 6612)

Simplify each difference. Make sure your final answer is written in standard form.

9) (6x% + 4x) - (6x - 5 - 2x?) 10) (3x* +1) - (x* +3x* - 1)

1) (x+4) - (2x +2x* - 4) 12) (4 - k) - (8 -5k + k%)

13) (8m? + 6m> = 7) - (6m* + 8m” + 3) 14) (4n* - 2n® - 4n?) - (3n + 6n* - 4n?)
15) (8v2 =6+ 4v°) — (W2 + 2 + 5v°) 16) (5x +3x% - 3x*) — (7x* + 2x* - 2x)

Name each polynomial based on its degree and number of terms.

17) -8x> - 6x2 : 18) 6

19) 6n° + 8n 20) -6
21) ~4m -4 22) Tp + 4
23) —5v* + 7 24) 9

25) -6k = 5k* + Tk +9

Simplify each product.

26) 6(2p-17) 27) 3(6x - 1)



28) Sx*(8x +6) 29) 3(56 - 3)
30) 4(77% +5r +8) 31) 5(77% - 7 - 3)
32) 7(8v% - v +2) 33) 8(x2-x-5)

Factor each polynomial.

34) 4+ 8x 35) 5x+5

36) —40m* - 35m 37) -72n* - 56

38) x° + 2x* + 2x? 39) -450° + 35a + 45

40) -10n" - 20n° - 20n* 41) 4p® - 16p* - 18p

42) -14m° - 4m® - 4m” + 14m° 43) 20x* + 35x + 30x% + 35x
44y 12r° + 12¢° + 1262 + 61 45) 4b* - 4b° - 16b> - 36b
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Simplify each sum. Make sure your final answer is written in standard form.

11) (4 +4K2) + (3 + & + 4k%)
4t + 557 + 7

3) (x4 - 2x3) + (x2 -5 = 6x4)
St - oyt 4

5) (4 + 3p* + 2p3) + (Sp2 +2p° - 8)
4p° +8pt -4

)] (7+5v3—v)+(v—7+5v3)
10y

Name

=<
od C\/

/

2) (2r* +7) + (4* +3 + 6¢°)
6t + 6 + 10

4) (6x2 + 8x3) + (6x2 — 4x% - 1)
4+ 1287 =

6) (26* + 6 + 4b) + (7 + 2b* - 7b)
46" = 3h + 13

8) (4a - 7a® + 3a*) + (8a + a* + 6a%)

dat =t ¥ 120

Simplify each difference. Make sure your final answer is written in standard form.

9) (6x2 + 4x) - (6x - 5 - 2x%)
Sv' =2y +5

11) (x +4) - (2x + 2x* - 4)
vt v+ 8

13) (8m® + 6m® - 7) - (6m* + 8m® + 3)
—om’ +6m’ =10

15) (8v% = 6 + 4v*) - (v? + 2 + 5v%)

] a2
v =8

10) (3x* + 1) - (x* +3x* - 1)
- 42

12) (4-k) - (8 - 5k + k%)
S S

14) (4n* - 2n° - 4n?) - (3n + 6n* - 4n?)
=20t =2 - 3n

16) (5x +3x% - 3x4) - (7x4 +2x% - 2x)

—10x! + 37+ 7y

Name each polynomial based on its degree and number of terms.

17) -8x> - 6x>
cubic binomial
19) 6n° + 8n
cubic binomial
21) -4m-4
lincar binomial
23) =5v* +7
quadratic binomial
25) -6k> - S5k* + Tk +9
cubic polynomial with four terms
Simplify each product.
26) 6(2p-7)

12p-42

18) 6

constant monomial
20) -6

constant monomal
22) Tp+4

lincar binomial
24) 9

constint monomial

27) 3(6x - 1)

I8y -3

-1-



28" 5x%(8x + 6) 29) 3(55-3)

40x° + 30x* 15b-9
30) 4(7* + 5r + 8) 31) 5(7¥* - 7r-3)
, 28 + 201 + 32 352 - 351 - 15
32) 7(8v? - v +2) 33) 8(x%-x-5)
561 - 7v + 14 8x% — 8x — 40

Factor each polynomial.

34) 4 +8x2 35) 5x+5
41 + 2x?) S(x+ 1)
36) —40m? - 35m 37) -72n* - 56
“Sml8m +7) -8(9n* +7)
38) x° + 2x* + 2x? 39) -45a° + 35a + 45
¥ x® + 2%+ 2) 5(=94" + 7a +Y)
40) -10n"® - 20n° - 20n* 41) 4p® -16p* - 18p
—10n*(n” + 217 + 2) 2;}(2;32 -8p - 9)
42) -14m° - 4m® - 4m” + 14m® 43) 20x* + 35x® + 30x? + 35x
2m8(=7m? = 2m* - 2m + 7) Sx(4at + 7at + 60+ 7)
)44) 12¢° + 1212 + 12¢% + 6r 45) 4b* - 4b® - 16b% - 36b
or(2r + 267 + 21 4 1) 4h(h® = h* = 4b - 9)

i) Tobiok pg-H40 #4] Ax=Tuno
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Simplify each product using Distributive Property, a table or FOIL Method.

1) (3n-3)(8n-7)

3) (2n+2)(n-3)

5) (4k - 3)(2k + 8)

7) (8%k - 8)(k + 8)

9) (6x - 7)(8x +2)

11y (51 - 7)(6n - 2)

13) (7n% + 8n - 6)(8n - 8)

15) (852 + 4b - 2)(26 - 5)

17) (36% + 6b + 6)(b +2)

19) (6n% - 2n - 7)(6n + 3)

21) (4r +6)(4r - 6)

23) (2k +2)*

25) (4v +5)(4v-5)

2) (4k +3)(5k - 2)

4) (7x - 2)(x - 8)

6) (8v+1)(3v +6)

8) (7k + 4)(6k - 3)

10) (7m - 1)(5m +7)

12) (8n-4)(5n+5)

14) (8n% + n+2)(n - 2)

16) (3k% - 5k + 7)(2k + 3)

18) (572 - 4r + 4)(8r + 6)

20) (x + 4)(x - 4)

22) (8 +5x)°

24) (3r - 8)(3r + 8)

26) (3m + 5)2

ID: 2



27) (5n+3)(5n-3) 28) (7 - 4)?
- 29) (65~ 6)(6b +6) 30) (4x + 4)°
31) (4n + 8)(4n - 8) 32) (3v+4)(3v-4)

33) (4r - 6)(4r + 6) 34) (4-2p)4+2p)
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Name

Date Period

Simplify each product using Distributive Property, a table or FOIL Method.

1) (3n-3)(8n-7)

24n® — 458 + 21

3) (2n+2)(n-3)

2
2n - -4n-6

5) (4k - 3)(2k + 8)
8 + 26k - 24

7) (8k - 8)(k + 8)
8k + 56k - 64

9) (6x - 7)(8x +2)
48x% — 44x - 14

11) (5n-7)(6n-2)
30n° - 52n+ 14

13) (77* + 81 -6)(8n - 8)
56n° + 81 — 1121 + 48

15) (862 +4b-2)(2b - 5)
[6h™ = 32h% = 24b + 10

17) (362 +6b +6)(b +2)
3b% + 1267 + 18b + 12

19) (6n% - 2n-7)(6n + 3)
36n° + 6n° - 48n — 21

21) (4r +6)(4r - 6)
[6¢° - 36

23) (2k +2)?
4 + 8k + 4

25) (4v +5)(4v - 5)

.9 -
16v- =25

2) (4k +3)(5k-2)
20k% + Tk - 6

4) (7x - 2)(x - 8)
7x° - 58x+ 16

6) (8v + 1)(3v + 6)

202 +51v+ 6

8) (7k + 4)(6k - 3)
426% + 3k ~ 12

10) (7m - 1)(5m +7)
35m> + 4d4m -7

12) (8n-4)(5n +5)
40n* + 20n - 20

14) (8n* +n+2)(n-2)
81 — 1517 - 4

16) (3%% - 5k + 7)(2k +3)
6k™ — k7 — k + 21

18) (5¢% - 4r + 4)(8 + 6)

40 = 2% + 81 + 24

20) (x + 4)(x - 4)

¥ - 16

22) (8 + 5x)*

64 + 80x + 25x°
24) (37 - 8)(3r + 8)

9r — 64

26) (3m +5)?

9> + 30m + 25



27; (5n+3)(5n-3)

2507 4

29) (65 - 6)(6b +6)

) 1.3 Pl
AOHT — H0

31) (4n + 8)(4n - 8)

i X\
Ly - ()t

33) (4r - 6)(4r +6)

[or — 30

28) (76 - 4)*

e — 500 + |4

30) (4x + 4)

OV + 320V + 10

32) (3v +4)(3v - 4)

] fo

34) (4 - 2p)(4 +2p)

, ,
T i

1
3%
)



